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CBT Sample assessment model answers

Management Accounting: Costing (MMAC)

Sample assessment 2
Task 1  (16 marks)
[image: image2.png]() Calculate the cost of issuing 350 brake pads BP371 to the Vehicle Maintenance and Repairs.
department on 18 December and the inventory balance after the issue using FIFO (first n, first out)
and LIFO (last n, first out). (14 marks)

FIFO 5710 1870

LFO 5820 1760

(b) Complete the sentence below with regard to FIFO (first n, first out) as a method of pricing
inventory issues. (2 marks)

e FFO menod o cosing ssues awars mean ratinveion i pysicalyissuea

on a rotating basis so thatthe firstinventory in is the first inventory issued.





Task 2  (16 marks)
[image: image3.png]Identify the correct cost accounting entry for each of the following FOUR transactions which took place
during December.

(a) Return of 20 emission prevention filters, costed at £340 each, from Maintenance to Stores. (4 marks)

Debit 8000 6800)

Credit 7500 6800)

(b) Payment to suppler for 10 forward facing cameras for installation in vehicle cabs.
‘These cameras cost £945 each and were purchased on 28 day credit terms. (4 marks)

Debit 4500 9450|

Credit 4000 9450|





Task 2 (continued)
[image: image4.png](c) Payment of driver wages for the week amounting to 2,700 hours at 19.50 per hour. (4 marks)

Debit 5000 52650)

Credit 4000 52650)

(d) Issue of diesel fuel, 2010 itres at £1.20 per ltre, to the two proft centres:
UK Services and International Services. (4 marks)

Credit 8000 2412]





Task 3  (12 marks)
[image: image5.png](a) Complete the gaps in the table below to calculate the total labour cost for the driver team. 8 marks)

Basicpay 750 12500
Overtime rate 1 ) 25
Overtime rate 2 20) 810
Totalcost before bonus 22| 15255
Bonus payment 360
Totalcostincluding bonus 15815






[image: image6.png](b) Calculate the average labour rate per hour, inclusive of bonus, for each driving instructor in the month
of December (to TWO decimal places). (1 mark)

The average total labour rate per hour, inclusive of bonus, for each driving instructor in the month of December

s £ 19.00]

(c) Complete the following sentence. (3 marks)

The total pay, including bonus, for each driving instructor for December (to TWO decimal places) was: £ 260250

and of this total, the bonus payable to each team member was: £ 60]






Task 4  (18 marks)
[image: image7.png]Use the following table to allocate or apportion the overheads using the most appropriate basis.
Each cellin the bottom five rows must have an entry in order to gain full marks.

apportionment

Deprecsioncharge  [car amount Toom|  saono =
Rent, rates and insurance [F1007 space 16000 24000 11200 8800 8000 68000
Supenvisors’ wages [Pirect Iabour costs. 30000 35000 65000}
Indirect labour [Allocated 53500 27600 43400 124500]
Light, heat and power  [Floor space 4000 6000 2800 2200 2000 17000
s oo wwons| oo weeon|  soin] s
espporton: Hantenance s as| eow

espporion s oz zoorz sa000

Seneralaamistton 2e7o0) 270 se400

Tl ovreace PR pr—

proft centres





Task 5  (15 marks)
[image: image8.png](a) Calculate the budgeted overhead absorption rates that were used for the UK Services profit centre
‘and for the Vehicle Maintenance and Repairs cost centre. (5 marks)

|Budgeted overhead rate (£) 38 40

(b) Identify the most appropriate budgeted overhead absorption basis for the UK Services profit centre. (1 mark)
f—
Budgeted hours

(€) Identify the most appropriate budgeted overhead absorption rate for the Vehicle Maintenance and
Repairs cost centre.

(1 mark)

Budgeted miles

Budgeted hours





Task 5 (continued)

[image: image9.png](d) Ifthe value of the actual overheads incurred last quarter exceeded the overheads absorbed for the
quarter, PHL will have: (2 marks)

overabsorbed overheads for last quarter.

underabsorbed overheads for last quarter.

(e) Complete the following sentence: (6 marks)

A over absorpton ofoverheads will b [ t e Proftand Loss account

s v fecreazs [l svenses o ezl vt





Task 6  (25 marks)
[image: image10.png](a) You are required to complete the table below to show the forecast contribution and profit for routes.
RTU13, RTU14 and RTU15 for the next quarter.

Contract miles 4000 5000 4800)
Revenue and costs

Revenue (£000s) 800 750 576)
Variable costs (£000s) 300 450 384
Contribution (£000s) 500 300 192|
Fixed costs (£000s) 200 75| 125|
Proit (£000s) 300 125 67|





[image: image11.png](b) Complete the sentences below to show where specific reports will be sent. (3 marks)

The Contract Manager wil be sent overall performance reports to monitor revenue for routes RTU13, RTU14

and RT15 as hefshe will be the relevant

[Froftcenre Rl manager. The Maintenance depariment

manager will be sent reports on maintenance for the contracts as he/she will be the relevant

Costcentre JEA manager. Reports onthe returms on capital employed on each coniractare sent

tothe [vesiment centre JL] manager.





Task 6 (continued)
[image: image12.png](c) Looking at the information in part (a), indicate how you should react to the following scenarios by
‘answering yes or no n the table below.

You are asked to change revenue figures by a colleague to increase profitwithout any
data for this or managerial authorisation. Do you do this?

Afriend of yours working for a fival company has asked for a copy of the above forecasts
‘S0 thattheir company can putin a bid. Do you do this?

SIS

You discover a mistake you have made that has a significant effect upon profit
Do you report his to your manager?

When drawing up the forecasts you see that one of the routes makes less profitthan the
other route. You do not understand why this is s0. Do you ask your manager to explain?

SIS

(4 marks)





Task 7  (16 marks)
[image: image13.png](a) Complete all cells in the forecast profit statement below to recommend how many miles should be
‘operated on both routes for next month.

Contribution per mile (£) 7] 12|
Contribution per driver hour (£) 100 200
Ranking 2 1
“Total drver time available (hours) 52|
Driver time allocated (hours) 28 24
‘Number of miles operated 400 400
“Total contribution eamed (€) 2800 4800 7600|
Less: fxed costs (£) 7200|
Forecast profitloss made (£) 400)

(b) Complete the following sentence, using your results from (a) above.

Roue RTUS e selectd as e st convacto operae et marin
a5 ithas e ignst [emiuton pe arverhout





Task 8  (16 marks)
[image: image14.png]Complete the table below by:
(a) selecting the correct classification for each cost using the drop-down box

(b) calculating and inserting the TOTAL cost at 5000 miles travelled for costs 1 to 4.

Costclassication 1 v 0000
Costclassicaion 2 v 4000
Gosttsssitcatons 20000
Gosttsssitcaton« | [Semivanavte oot ol 72000





Task 9  (16 marks)
[image: image15.png](a) Complete the table below to show a flexed budget and the resuiting variances against this budget for
the International Services profit centre for December. Show the actual variance amount, for sales.
revenue and each cost, in the column headed ‘Variance'.

Note:
+ Adverse variances must be denoted with a minus sign or brackets.
« Enter 0 where any figure is zero.

Number of miles traveled 80,000) 76.000) 76,000)
Sales revenue 1,200,000 1140000 1,115,000 25000
Less costs.

Diver wages and related costs 250,000 237500 235,100 1400
Vehicle maintenance and alhercosts| 180,000 171000 169,200) 1800
Fixed overneads 210,000 210000 210,150 -150)
Prafitrom operations 560,000 521500 499550 21950

(b) Identify below the variance that was the main reason for the difference between the actual profit from
‘operations and the flexed budgeted profit from operations.

s ovonis vaancs v






Task 10  (20 marks)
[image: image16.png](a) Complete the sentences below by selecting the most appropriate choices from the drop down boxes.
o advise PHL of the projects that should be chosen for the two investments. 12 marks)

o e frstimstment L snoutmiestin [Pt TRl 2 thes e [aarestparreciperos [l

and meets the company investment citerion.

Forthe second investment PHL should investin

citerion as it has the [nighest net present vaiue. g

B2 because it meets the company investment





[image: image17.png](b) Review the four statements in the box below and identify whether they are true or not by selecting the
correct options.

The interal rate of return is always the same s a company's cost of capital

“The net present value method discounts future cash flows back to a present day value.

fthe internal rate of return is greater than the cost of capital for a project,
then it should be undertaken.

SIS

‘The Payback method uses the profits from a project to determine the payback period.
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